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Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately,

Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@$ - 1/ PART -1

20x1=20

AsTOSELULGder Bran® DD B asie sayp puL
Aoous Csipas0sss GHS GG cflen L W@ epanuyp C&ids)
eT(SayLD.

Answer all the questions.

Choose the most appropriate answer from tje
the option code and the corresponding angye

given foyr alternatives and write
T.
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QUmTmHSTS T Gg,frﬁ@g,@&aseqm.

(<=1) oIt Qemrutd

(<) wseS @ wrmu@D olf:3

(@ ydw sarLrafl Qeran® ebs BOHEUWIT
(7)) udipseléauULTS HLLLD

Select the odd one out.

(@) Revaluation Profit

(b) Investment fluctuation fund

(c) Goodwill brought by new partner

(d) Accumulated Loss

gl Lraflgaef fmhs Hneuad sLesad QuDHmHeTR. SSLMSEREE Qbw
Gl L_T@menlng &L L1b, 1932 -a Ulg eupalu®db ety IS :

(ot L, @m(HEE@ 6% (.3,) @ D&E 12%

(@) <@parH&Ea@ 8% (17 .a\anpEE 30

As per the Indian Partnership Act, 1932, the rate of interest allowed on loans advanced by
Partners is :

(@) 6% per annum (b) 12 per annum

(c) 8% per annum (d) 5% per annum

sLeammaflser @mé Qmiy T 20,000, Quipm Qrrésnd T 1,40,000, sLdr aSiLiemen
% 1,20,000. sLareflsear Qsmds @iy :
(<=1) ¥ 20,000 (<) T 30,000 LET% 40,000 (/) R 1,30,000

Closing balance of debtors ¥ 20,000, Cash received ¥ 1,40,000, Credit sales ¥ 1,20,000
Opening balance of debtors :

(a) ¥ 20,000 (®) % 30,000 (c) 40,000 (d) % 1,30,000

A, B LD{_EJQJL.D'C T Sal' L aflaeir 4: 2 : 3 eranm eHSEHD Gevus BLL &g L& ihS)
QUBSEIT. g;g)@ur@ C elogdmnri. A whmid B -wller ydlw Qeoruts udiey aldgLd :
(o) 3:4 (271 (@) +:3 (") 1:2

ters sharj e s - 59 . . ;
A, B and C are par aring profits in the ratio of 4 : 2 : 3. C retires. Th,
o e ratio between Aand B will b e new profit

(@ 3:4 ® 2:1 (€ 4:3 (d 1:2
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5. edhuean epeotd Qudm eumeumi) ¥ 4,00,000, 6fpLicnan epEdLD QuUDD SIHOUMLIGSTEn
SL&sailena T 1,50,000, Blireumrs s Qeaesear T 50,000, adpueend CEaysdr
¥ 8,500 aranfled, Mlay @eomuibd :

(521 1,91,500 (<) T 4,00,000 (@) % 2,00,000 (/) ¥ 1,50,000

Reve-m}e frpm operations ¥ 4,00,000, Cost of revenue from operations ¥ 1,50,000
Administration expenses ¥ 50,000 and Selling expenses  8,500. The Net Profit is :

6. srﬁr'rt'_lura‘,\@ FTEMDTIENTD TEHETEH LerRssLGADS ?
(1) Qemggiser sL_eéEs QUMTEISlILIg)
(<) swe@wll ufa)
@) @i@ieies LweLn 4 HsTs ek BmHE THSS QTESsLD
() <ADSenssHeT
Contra Voucher is used for :
(@) Credit purchase of assets
(b) Master entry
(c) Withdrawal of cash from bank for office use
(d) Reports
7. Clsmggismer eurudl LkiGse CeuefuliGid Cumg), aurey eeussLILIELD SEMTES) :
(<=1) eNlpuenamuireni &/ (<) upLie Qerggser &/ @
| L@’)?uréu@ WP &/G () euiadl 5/@
When shares are issued for purchase of assets, the amount should be credited to :
(a) Vendor's A/c | (b) Sundry Assets A/c
(c) Share Capital A/c (d) Bank A/c
8. alogwb salLralsglu Sieysdsras 2 Leaiguirg Qg@ggng Gurgl, I8l
WLIHDUILIHLD SHE0TEHS)
(.ér)ﬂﬂeo@ﬂ} gl Lmaflufer sLérm &/@
(=) auraidl /@
(8) 9o s’ refiseliean W &/@
() el sl neflufer s &/G
If the final amount due to a retiring partner is not paid immediately, it is transferred to':
(@) Retiring Partner’s Loan A/c ;
(b) Bank A/c
(c) Other Partner’s Capital A/c
(d) Retiring Partner’s Capital A/c
A

[ Sl / Tum over
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9. ¢G5 auens Hgeuaisaiian &rrefl Qaru elfsiors smesrLGS :
(ersmre @aru eSS0 () TiCrrs@n Geom &S0

(Q) sprefl @emrud (7) Qeausaia orgidomea
The average Rate of Return of similar concern is considered as

(a) Normal Rate of Return (b)  Expected Rate of Return
(c) Average Profit (d) None of these

10.  Tally -6 erg) (pendal oG eUeTUNISSLLILTE @ ?

(=) puear &/ (<) Slemosg &/

(@) wpsdSHser 5/ 7] Qarur Geuemgw CFawe] &/
Which is not the default group in Tally ?

(@) Sales Account (b) Suspense Account

(c) Investments Account (d) Outstanding Expenses Account

1. urywe getenm, Uligwed B rewr@H L6 Qumrmsd QasTHssLULH6rer
GO el nweu®ss sfwres ellenLanwd CsibosHEsa L.

UL 1q U160 - I UL 1qu160 - II
(1) pLriy dsih (i) Breos semenio
2) Blar Qeru Hfsib (i) Gewedmen

B) up s dummliyser eldlsn (i) B sTe HLan Sig@h Hmer
4) srsSmLy spps Nfsin (iv) Qerus searenw

(=1) (1) - (), (2) - (i), (3) - (i), @) - (i)

(<) (1) - (), (2 (iv), (3) - (i), (4) - (ii)

((@)(1" 2) - (i), (3) - (i), (4) - (iv)

(rF) (1) - (2) (1), ) - (iv), (4) - (3)

Match LlSt—I w1t11 List-IT and select the correct answer using the codes given below

List-I List-1I
(1) Current Ratio (i)  Liquidity
(2) Net Profit Ratio (i) Efficiency
(3) Debt-Equity Ratio (i) Long-term Solvency
(4) Inventory Turnover Ratio (iv) Profitability
@ (1)-G), @-G), G- @)
®) (-G @), @)-0i) ¢)-G)

(1)-(i), (2)-Gi), (3)-(ii), (4)-Gv)
d) (1)), (2)-(i), (3)-(iv), (4)-G)

N
g
g
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@iy Qaiuyb Curg LBIG wpse sHawrs G erdler LD emeudsLILGE D ?

terleimpssiiul L Qgras (<3b) Wpsdiiy

(8) Ceausslinl L Qsres (/) Quuwrerey L
At the time of forfeiture, share capital account is debited with :
(a) Called up amount (b) Face value

(c) Paid up amount (d) Nominal value

Aur@BsTs eaen Gsfay Ces.

(2t psed Bgl euliy - Gfley 13(@)
() el Lreflgeflen earflwd - (Gfey 13(<=)
(8) er®uy 1Bg eulig - 9fley 13()

() @eoruls udlirey el&lHD - Gfley 13(<y,)
Choose the incorrect pair.

(a) Interest on Capital - Sec13(c) -

(b) Remuneration to Partners - Sec 13(a)

(c) Interest on Drawings - Sec 13(d)

(d) Profit Sharing Ratio - Sec 13(b)

aumeum wpmib QFwaiears samad o
(1) rHdsgien DpeTemt saméE

(<) Qersg samés

() <yerent sadE

(3 QuwreTeys SaMTEE

Income and Expenditure account is a :

(a) Representative Personal A/c

(b) Real A/c

()  Personal A/c

(d) Nominal A/c
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15, Qurrg]uqa;mmés ‘Srn:_lq_gjl_b Bl@HWITS 2 6rer Glgrrg@g;m .
(2)0mise (@) Gorub  (m) e

The excess of Assets over Liabilities 15 :

Cash (©)  Profit (d) Capital

(=1) b
(@) Loss (b)

16. Geraumeauaeupdle g B @ uGLumbeler LwemumE oidhe ?

(@) fpeuasdar fHlue JLLBGse

_L«%’))ﬂ@jmmgﬁsh Bireniog semenlo LHMID &Lair Ei&E Hmer
(&) Byeuargder BHSH L Llgud suriggd
() Bimeuersdler sLen Quuib semanemw LANIGeug
Which one of the following is not a function of Fund Flow analysis ?
(@) financial planning of a business concern
(b) liquidity and solvency of a business concern

(c)  preparation of budgets of a business concern

(d) credit worthiness of a business concern

17.  gar el Goitifen Gung) Uy g refl ppELILEDESTS Qaan® aiwb Asrms,
WIMHEOLWI (PS5 Semréddy ure| eneudsliLL. Geuathid ?

(21) U gL mefl (=) el al L Taflsar

Mﬂ Lol L roflger () Simasgl sl L reflser

At the time of admission, the G _ b Siradlis the
Capital a ccounts of whom 7 oodwill brought by the new partner may be credited to

(a) The new partner (b) The old partners

(c) The Gacrificing partnerg (d) Al the partners
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Spaimeusteupiler ergy sflwneng ?
,(‘g) 2 Wit @eruid = gyraf @GUWULb—grr‘g,n'g'smr Qeomud
(<) 2wir arub=0wrss Qeruib/ oy dr@aaian eramailésons
(8) e-wi @erub=asrref @a)rrubeQesrrsiT@pg,eb Y CEy
(7)) 2w Qarub=sl Barub/ <y ar@saiear aarefEons
Which of the following is true ?
(@) Super Profit= Average Profit— Normal Profit.
(b)  Super Profit=Total Profit/ Number of vears.

(c)  Super Profit= Average Profit x Years of Purchase.

(d)  Super Profit=Weighted Profit/ Number of vears.

e meuanamble o1 Hld\hlaren’ uatunieler @m &mell o ?

' . L] - -
(1) Gund@s uEounie,

Mﬁmmuﬁlf}m.fnJz'_z_ Sl BA G et use

(@) Uit () «=flawa

(FF)  @umay spanay . qiflaaa

Which of the following 1s not s tool of Fianaal Statement analysis 2
(@)  Trend analvsis

(b)  Standard costing,

(¢)  Comparative statement

(d)  Common size statement

S LAMGH D -arar 500 o mundeEar, ,-_:;bav(y sBEMaUTS s 2100 QsgusBaa.
BLULTENIGSD FalgWdTar §HST @Lﬁ@m.@UDUeLﬁgéj 2200; (el AUOD SHET
% 300, qu@peumw wHOID Qeaddaréd samsdld asm L Coudmgu sHST
Qsreasiioars SRTLHLD.

(1) T 49,900 (Sp¥XP0,000 (&) 49,800 (/) % 50,200

There are 500 members in a Club each P"{_"iﬂ% <100 as Annual Subscription. SubsFripﬁon
due but not received for the Current year 15 < 200; _Subscnljﬁon received in advance is T 300.
Find out the amount of Subscription to be shown in the Income and Expenditure account.

(@) ¥ 49,900 () ¥ 50,000 (€) 49,800 (d 50,200

[ s / Turn over
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